| Note: (1) Control Agent initial here: if low bid is acceptable. (2) Att | tach memo stating why low bid is not acceptable (3) Return your | r recommendation to Purchasing | | | | | | |
|---|---|--------------------------------|--|--|--|--|--|--|
| GISD BID #11-12-26 REFRIGERATED & FROZEN FOODS | | | | | | | | |
| Purchasing Agent: Mr. Demetrious Giovas, Director of SNP Box No.: | | | | | | | | |
| Bid Number: 11-12-26 Advertising Date: April 23, 201 | 2 Opening Date: May 17, 2012 | | | | | | | |
| Description: Refrigerated & Frozen Foods | | | | | | | | |
| Purchasing Agent: | Witness: | | | | | | | |

| | | Shamrock Foods | | Labatt | | Sysco NM | | Dee's Food Service | | |
|--------|--------------------------------|----------------|----------|--------------|----------|--------------|----------|--------------------|----------|--------------|
| ltem | Description | Qty | Per Case | Total | Per Case | Total | Per Case | Total | Per Case | Total |
| 1 | Bacon precooked | 10 | NB | #VALUE! | NB | #VALUE! | \$34.36 | \$343.60 | NB | #VALUE! |
| 2 | Bagel Lenders blueberry sliced | 10 | \$16.08 | \$160.80 | \$16.22 | \$162.20 | \$15.74 | \$157.40 | NB | #VALUE! |
| 3 | Bagel Lenders Cinnamon sliced | 10 | \$16.08 | \$160.80 | \$16.22 | \$162.20 | \$15.71 | \$157.10 | NB | #VALUE! |
| 4 | Bagel Lenders plain sliced | 10 | \$16.33 | \$163.30 | \$13.97 | \$139.70 | \$13.56 | \$135.60 | NB | #VALUE! |
| 5 | Beef fully cooked | 30 | \$49.30 | \$1,479.00 | NB | #VALUE! | NB | #VALUE! | NB | #VALUE! |
| 6 | Ground beef | 400 | \$2.57 | \$1,028.00 | \$2.44 | \$976.00 | \$168.09 | \$67,236.00 | NB | #VALUE! |
| 7 | Sliced roast beef | 5 | NB | #VALUE! | \$56.06 | \$280.30 | \$65.72 | \$328.60 | NB | #VALUE! |
| 8 | Beef breaded stix | 1200 | \$17.20 | \$20,640.00 | \$16.84 | \$20,208.00 | \$16.89 | \$20,268.00 | \$16.85 | \$20,220.00 |
| 9 | Beef steak patty | 2000 | \$68.50 | \$137,000.00 | \$70.79 | \$141,580.00 | \$48.94 | \$97,880.00 | \$63.80 | \$127,600.00 |
| 10 | Breakfast blueberry stick | 500 | \$23.10 | \$11,550.00 | \$20.13 | \$10,065.00 | \$21.86 | \$10,930.00 | \$22.25 | \$11,125.00 |
| 11 | Butter | 200 | \$52.55 | \$10,510.00 | \$65.50 | \$13,100.00 | \$56.55 | \$11,310.00 | NB | #VALUE! |
| 12 | Buttermilk biscuit | 1500 | \$34.35 | \$51,525.00 | \$24.11 | \$36,165.00 | \$23.07 | \$34,605.00 | \$23.10 | \$34,650.00 |
| 13 | Carrot slices frozen | 500 | \$14.85 | \$7,425.00 | \$14.58 | \$7,290.00 | \$18.89 | \$9,445.00 | NB | #VALUE! |
| 14 | Cheese lowfat | 500 | NB | #VALUE! | \$69.28 | \$34,640.00 | NB | #VALUE! | NB | #VALUE! |
| 15 | Chicken & Biscuit sandwich | 300 | \$62.05 | \$18,615.00 | \$59.63 | \$17,889.00 | \$58.69 | \$17,607.00 | \$57.60 | \$17,280.00 |
| 16 | Chicken Breast | 500 | \$34.88 | \$17,440.00 | \$22.39 | \$11,195.00 | \$29.02 | \$14,510.00 | \$22.22 | \$11,110.00 |
| TOTAL | PRICE | | | | | | | | | |
| TERMS | 3 | | | | | | | | | |
| DELIVE | ERY | | | | | | | | | |
| FOB | | | | | | | | | | |
| IN-STA | TE PREFERENCE NUMBER | | | | | | | | | |

| Note: (1) Control Agent initial here: if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasin | | | | | | | | |
|---|----------------------------------|----------------------------|--|--|--|--|--|--|
| GISD BID #11-12-26 REFRIGERATED & FROZEN FOODS | | | | | | | | |
| Purchasing Agent: Mr. Demetrious Giovas, Director of SNP Box No.: | | | | | | | | |
| Bid Number: 11-12-26 | Advertising Date: April 23, 2012 | Opening Date: May 17, 2012 | | | | | | |
| Description: Refrigerated & Frozen Foods | | | | | | | | |
| Purchasing Agent: Witness: | | | | | | | | |

| | | | US Foods | | JNS Food | | | | | |
|--------|--------------------------------|------|----------|--------------|----------|-------------|----------|--------|----------|--------|
| ltem | Description | Qty | Per Case | Total | Per Case | Total | Per Case | Total | Per Case | Total |
| 1 | Bacon precooked | 10 | NB | #VALUE! | NB | #VALUE! | | \$0.00 |) | \$0.00 |
| 2 | Bagel Lenders blueberry sliced | 10 | NB | #VALUE! | NB | #VALUE! | | \$0.00 | | \$0.00 |
| 3 | Bagel Lenders Cinnamon sliced | 10 | NB | #VALUE! | NB | #VALUE! | | \$0.00 |) | \$0.00 |
| 4 | Bagel Lenders plain sliced | 10 | NB | #VALUE! | NB | #VALUE! | | \$0.00 | | \$0.00 |
| 5 | Beef fully cooked | 30 | NB | #VALUE! | NB | #VALUE! | | \$0.00 | | \$0.00 |
| 6 | Ground beef | 400 | NB | #VALUE! | \$84.00 | \$33,600.00 | | \$0.00 | | \$0.00 |
| 7 | Sliced roast beef | 5 | NB | #VALUE! | NB | #VALUE! | | \$0.00 | | \$0.00 |
| 8 | Beef breaded stix | 1200 | \$16.69 | \$20,028.00 | NB | #VALUE! | | \$0.00 | | \$0.00 |
| 9 | Beef steak patty | 2000 | \$65.10 | \$130,200.00 | NB | #VALUE! | | \$0.00 | | \$0.00 |
| 10 | Breakfast blueberry stick | 500 | NB | #VALUE! | NB | #VALUE! | | \$0.00 | | \$0.00 |
| 11 | Butter | 200 | \$34.95 | \$6,990.00 | NB | #VALUE! | | \$0.00 | | \$0.00 |
| 12 | Buttermilk biscuit | 1500 | \$26.87 | \$40,305.00 | NB | #VALUE! | | \$0.00 |) | \$0.00 |
| 13 | Carrot slices frozen | 500 | \$15.33 | \$7,665.00 | NB | #VALUE! | | \$0.00 | | \$0.00 |
| 14 | Cheese lowfat | 500 | NB | #VALUE! | \$72.63 | \$36,315.00 | | \$0.00 | | \$0.00 |
| 15 | Chicken & Biscuit sandwich | 300 | NB | #VALUE! | NB | #VALUE! | | \$0.00 | | \$0.00 |
| | Chicken Breast | 500 | \$29.15 | \$14,575.00 | NB | #VALUE! | | \$0.00 | | \$0.00 |
| TOTAL | PRICE | | | | | | | | | |
| TERMS | 3 | | | | | | | | | |
| DELIVE | RY | | | | | | | | | |
| FOB | | | | | | | | | | |
| IN-STA | TE PREFERENCE NUMBER | | | | | | | | | |

| | | Shamrock Foods | | Labatt | | Sysco NM | | Dee's Food Servic | | |
|------|--------------------------------|----------------|----------------------|------------------------|--------------------|---------------------------|--------------------|---------------------------|---------------|------------------------|
| ltem | Description | Qty | Per Case | Total | Per Case | Total | Per Case | Total | Per Case | Total |
| 17 | 7 Chicken breast nuggets | 1500 | \$17.95 | \$26,925.00 | \$14.24 | \$21,360.00 | \$13.65 | \$20,475.00 | \$17.65 | \$26,475.00 |
| 18 | B Chicken breast pattie | 500 | \$26.85 | \$13,425.00 | \$12.54 | \$6,270.00 | \$12.01 | \$6,005.00 | \$14.90 | \$7,450.00 |
| 19 | Chicken diced | 1000 | \$27.45 | \$27,450.00 | \$30.17 | \$30,170.00 | \$26.11 | \$26,110.00 | \$41.25 | \$41,250.00 |
| 20 | Corn Whole | 200 | \$16.15 | \$3,230.00 | \$16.20 | \$3,240.00 | \$25.93 | \$5,186.00 | NB | #VALUE! |
| 21 | | 5 | \$23.80 | \$119.00 | \$50.04 | \$250.20 | \$43.04 | \$215.20 | | #VALUE! |
| 22 | | 500 | \$20.30 | \$10,150.00 | \$20.79 | | \$21.61 | \$10,805.00 | | #VALUE! |
| 23 | | 10 | \$17.66 | | \$16.13 | \$161.30 | \$16.77 | \$167.70 | 1 | #VALUE! |
| 24 | | 10 | \$17.00 | | | \$156.30 | \$16.47 | \$164.70 | | #VALUE! |
| | | - | | | | | | | | |
| 25 | | 250 | \$22.70 | - | \$32.19 | | | \$5,325.00 | | #VALUE! |
| | 5 Egg hard boiled egg | 10 | \$24.99 | \$249.90 | \$12.96 | | \$25.96 | \$259.60 | | #VALUE! |
| 27 | 7 Peas and carrots | 500 | \$16.37 | \$8,185.00 | \$16.99 | | \$36.08 | \$18,040.00 | NB | #VALUE! |
| 28 | | 500 | <mark>\$16.15</mark> | \$8,075.00 | \$17.47 | \$8,735.00 | \$28.24 | \$14,120.00 | NB | #VALUE! |
| 29 | Ham sliced | 750 | \$38.57 | \$28,927.50 | \$39.85 | \$29,887.50 | \$30.87 | \$23,152.50 | NB | #VALUE! |
| 30 | Home made whole wheat pita | 100 | NB | #VALUE! | \$26.78 | \$2,678.00 | \$24.07 | \$2,407.00 | NB | #VALUE! |
| 31 | I Italian vegetables mixture | 500 | \$21.51 | \$10,755.00 | \$19.76 | \$9,880.00 | \$24.31 | \$12,155.00 | NB | #VALUE! |
| 32 | 2 Juice fruit grape | 650 | \$12.17 | \$7,910.50 | \$11.41 | \$7,416.50 | \$14.69 | \$9,548.50 | \$11.33 | \$7,364.50 |
| 33 | 3 Juice fruit orange pineapple | 650 | \$11.29 | \$7,338.50 | \$11.18 | \$7,267.00 | \$13.97 | \$9,080.50 | \$11.00 | \$7,150.00 |
| 34 | 4 Juice fruit orange | 650 | \$11.45 | \$7,442.50 | \$11.08 | \$7,202.00 | \$13.97 | \$9,080.50 | \$11.00 | \$7,150.00 |
| | 5 Mixed vegetables frozen | 500 | \$17.68 | \$8,840.00 | \$16.87 | \$8,435.00 | \$35.48 | \$17,740.00 | NB | #VALUE! |
| | 5 Muffin english | 2000 | NB | #VALUE! | \$22.74 | | \$17.59 | \$35,180.00 | | #VALUE! |
| 37 | 9 | 1000 | \$15.62 | \$15,620.00 | \$17.28 | \$17,280.00 | \$15.35 | \$15,350.00 | \$15.65 | \$15,650.00 |
| | 8 Peas | 500 | \$18.25 | \$9,125.00 | \$17.31 | \$8,655.00 | \$26.99 | \$13,495.00 | | #VALUE! |
| | 9 Pizza | 500 | \$39.83 | \$19,915.00 | \$38.20 | \$19,100.00 | \$40.07 | \$20,035.00 | | #VALUE! |
| |) Pork Rib patty | 500 | \$38.69 | \$19,345.00 | \$28.11 | \$14,055.00 | \$27.24 | \$13,620.00 | \$27.45 | \$13,725.00 |
| 41 | | 800 | \$16.20 | \$12,960.00 | \$20.63 | \$16,504.00 | \$16.72 | \$13,376.00 | | #VALUE! |
| 42 | | 500 | \$17.71 | \$8,855.00 | \$16.80 | . , | \$16.57 | \$8,285.00 | | #VALUE! |
| 43 | 1 | 800 50 | \$21.35 NB | \$17,080.00 #VALUE! | \$20.47 \$22.97 | \$16,376.00 \$1,148.50 | \$18.83 \$23.01 | \$15,064.00 \$1,150.50 | | #VALUE! #VALUE! |
| 42 | 9 | 1200 | \$21.93 | #VALUE! \$26,316.00 | \$22.97 | . , | \$23.01 | \$1,130.30 | NB \$21.55 | #VALUE! \$25,860.00 |
| - | 5 Soup-Boston clam chowder | 5 | \$44.41 | \$20,310.00 | \$21.47 | \$23,704.00 | | #VALUE! | \$21.55 NB | #VALUE! |
| 40 | | 5 | \$39.70 | \$198.50 | \$38.57 | \$192.85 | \$31.42 | #VALUE: \$157.10 | | #VALUE! |
| | Soup-Chicken w/egg noodles | 5 | \$35.70 NB | #VALUE! | \$36.89 | | \$30.20 | \$157.10 | | #VALUE! |
| | Soup-Chicken w/egg hoodies | 5 | \$48.25 | \$241.25 | | #VALUE! | \$32.92 | \$151.00 | | #VALUE! |
| 50 | | 100 | \$54.73 | \$5,473.00 | \$44.39 | \$4,439.00 | \$45.93 | \$4,593.00 | | #VALUE! |
| 51 | | 500 | \$45.47 | \$22,735.00 | \$3.48 | \$1,740.00 | \$50.64 | \$25,320.00 | | #VALUE! |
| 52 | | 1000 | \$30.09 | \$30,090.00 | \$20.47 | | \$20.00 | \$20,000.00 | \$20.56 | \$20,560.00 |
| 53 | | 25 | \$45.15 | \$1,128.75 | \$44.47 | \$1,111.75 | \$46.91 | \$1,172.75 | | #VALUE! |
| 54 | 4 Yogurt | 1000 | \$18.10 | \$18,100.00 | \$11.74 | | \$11.25 | \$11,250.00 | | #VALUE! |
| | 5 Zucchini Squach | 400 | \$22.79 | \$9,116.00 | \$17.02 | \$6,808.00 | \$36.32 | \$14,528.00 | | #VALUE! |

GISD BID #11-12-26 REFRIGERATED & FROZEN FOODS PAGE 2

| | | US Foodservice | | JNS Foods | | | | | | |
|------|--|----------------|---------------|-----------------------|----------|--------------------|--------------|-------|--------------|------------------|
| Item | Description | Qty | Per Case | Total | Per Case | Total | Per Case | Total | Per Case | Total |
| 17 | Chicken breast nuggets | 1500 | 17.35 | 26,025.00 | NB | #VALUE! | | 0.00 | | 0.00 |
| 18 | Chicken breast pattie | 500 | 21.00 | 10,500.00 | NB | #VALUE! | | 0.00 | | 0.00 |
| 19 | Chicken diced | 1000 | \$36.90 | \$36,900.00 | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Corn Whole | 200 | \$16.58 | | | #VALUE! | | 0.00 | | \$0.00 |
| 20 | | 5 | NB | | NB | #VALUE! | | 0.00 | | \$0.00 |
| 21 | | 500 | \$20.65 | | | #VALUE! | | 0.00 | | \$0.00 |
| | | | - | | | | ł | | | |
| 23 | | 10 | NB | | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Cream cheese strawberry | 10 | NB | | NB | #VALUE! | | 0.00 | | \$0.00 |
| - | Croissants | 250 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Egg hard boiled egg | 10 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| 27 | Peas and carrots | 500 | \$16.79 | \$8,395.00 | NB | #VALUE! | | 0.00 | | \$0.00 |
| 28 | Green beans frozen | 500 | \$16.58 | \$8,290.00 | NB | #VALUE! | | 0.00 | | \$0.00 |
| 29 | Ham sliced | 750 | \$33.60 | \$25,200.00 | NB | #VALUE! | | 0.00 | | \$0.00 |
| 30 | Home made whole wheat pita | 100 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Italian vegetables mixture | 500 | \$21.16 | | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Juice fruit grape | 650 | NB | . , | \$13.26 | | | 0.00 | | \$0.00 |
| | Juice fruit orange pineapple | 650 | NB | #VALUE! | \$13.01 | \$8,456.50 | | 0.00 | | \$0.00 |
| 34 | Juice fruit orange | 650 | NB | #VALUE! | \$13.15 | \$8,547.50 | | 0.00 | | \$0.00 |
| 35 | Mixed vegetables frozen | 500 | \$19.75 | \$9,875.00 | NB | #VALUE! | | 0.00 | | \$0.00 |
| 36 | Muffin english | 2000 | \$39.75 | \$79,500.00 | NB | #VALUE! | | 0.00 | | \$0.00 |
| 37 | Pancakes whole grain | 1000 | \$15.12 | \$15,120.00 | NB | #VALUE! | | 0.00 | | \$0.00 |
| 38 | Peas | 500 | \$18.04 | \$9,020.00 | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Pizza | 500 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| 40 | Pork Rib patty | 500 | \$27.49 | | | #VALUE! | | 0.00 | | \$0.00 |
| 41 | | 800 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| 42 | Potato round | 500 | \$16.70 | | | #VALUE! | | 0.00 | | \$0.00 |
| | Potato sweet potato | 800 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| 44 | 0 | 50 | \$23.95 | | | #VALUE! | | 0.00 | | \$0.00 |
| | ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ | 1200 | \$21.25 | ., | | #VALUE! | | 0.00 | | \$0.00 |
| | Soup-Boston clam chowder | 5 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Soup-Golden broccoli cheese | 5 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Soup-Chicken w/egg noodles | 5 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Soup Mexican Style Strawberries | 5 100 | NB \$48.42 | #VALUE! \$4,842.00 | NB | #VALUE! #VALUE! | <u> </u> | 0.00 | | \$0.00 \$0.00 |
| | | 500 | \$48.42 NB | \$4,842.00 #VALUE! | NB NB | #VALUE! #VALUE! | } | 0.00 | | \$0.00 |
| 52 | | 1000 | NB | #VALUE! | NB | #VALUE! | ł | 0.00 | | \$0.00 |
| | Yeast | 25 | NB | #VALUE! | NB | #VALUE! | | 0.00 | | \$0.00 |
| | Yogurt | 1000 | NB | #VALUE! | NB | #VALUE! | 1 | 0.00 | | \$0.00 |
| | Zucchini Squash | 400 | \$22.60 | | | #VALUE! | | 0.00 | | \$0.00 |

GISD BID #11-12-26 REFRIGERATED & FROZEN FOODS PAGE 2